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1.

According to the Union Budget 2023-24, how 1. 33:3.”121 Torer 202324 5

many skill India international centres are to be @ forg T 0y ﬁmm WTH

set up across different states to skill youth for TR 3 fpers AT W’RT;T TR 3 %afi?};q

international opportunities? [Eqy STRRY? e ?;"‘:T
Vg 40 (b) 20 (@) ag ) 5 ™

© 30 (d) 50 (©) 30 @ &0

Who was the leader of rebellion in Bareilly, Uttar 2. 1g57 3 e, T e .

Pradesh during 18577 -

(a) Hazarat Mahal (b) Nana Saheb #) TR e (B =7y ey M
) Khan Bahadur Khan (d) Kunwar Singh (©) @ W T () TR Rig

3y Which one of the following is the largest coal 3. R4 g b 1 TR 75 o

v producing centre of Ukraine? BT A 87 7 T ST 3,
A&Donetsk (b) Kyiv (@) e (b) g
(€} Kharkiv (d) Zaporizhzhia (¢) w@fbg (d) \

.;)/ In Decem.ber,lZDZZt New Zealam:.i passed the 4. fymy 2022_‘* oiele 3 .w '% 3R
world’s first Law' to ban smoking for next HUH R UfGs e e freg o qmﬁ‘;
generation. New Zealand's goal is to be “smoke- qika RCIC D oL JE?H
free” by, ' CHHY qe B ey e !
(772030 - (b) 2024 (a) 2030 (b) 2024
(c) 2025 (d) 2029 (c) 2025 (d) 2029

?’/Which among the following (Provision - Part of 5. fop=fafRa & 4 S A (e - RN @
the Constitution) is not correctly matched? ) el e T 8
(@) Tribunals — Part X| () 3fermvor — T ¥
@I/The Union Territories — Part VII| (b} & I &= — Wy vy
(¢) Official Language — Part XVII (€) RTSTHTET — AT XV
(d) The Scheduled and Tribal Areas — Part X (d) 3T 3R S &3 - o x

A The Constitution of India initially permitted the 6. Ry w1 ey ¥ frg af 33 for ol

" use of English language for all official purposes RO vl &g SUSh e B 9w § fan
for a period of - SITART U= Y oA )

{a) 5 years | (b) 10 years (a) say (b) 109H
V}/VIS years (d) 20 years (€) 15 ag (@ 209 ’

7. Which of the following is an insectivorous plant? 7. fr=ifaiRag % & &1 @ aﬁﬂ&ﬁ\m e
(@) Nepenthes (b) Nelumbo (a) Adforg (b} g '

(¢) Nyctanthes (d) Nicotiana () Praeferg o ﬁ‘ﬁ’% o 2

/ A geographical unit that collects, stores and 8. w& Wi 3“5@ il ;iiﬁ 3 gﬁﬁ?f -
release water is called - HSROT el & g T it qﬂ:q
(a) Wet land (b) Waste land (@) amrg i . SrefaTeTd
X (d) 2
JABY Water reserve (d) Watershed () ot o1 8 e foredl

9// Who authored the book “The Challenge of World 9. “g yoicT aife dee el 3 s
Poverty”? (a) arfen /9 (b) T
(3 Amartya Sen (b) Gunnar Myrdal s () Tea o
(¢) Jean Dreze (d) Adam Smith (e) ]”M“m“mmll"mﬁ
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_}Cr- Which of the following is not

frafefara & @ &9 ardm wfam §

arqeT 20 @1 fRvn S 22

ta) ziraen @ e e o) s ansy feg
a2 A

(c) wrarer fafe (d) TTEY 7vg 9 e

ffer= e T Mfere 9 ue dig feg @
e TTe w0 A f | 48 fag o -

(a) AT (b) @rfder 1z
(c) AAMPIE (d) AT
oAl @ S aen Wi @ o I w=Em

& srqEaEAl F AR B B T FE
(@) wfyer & g | (D) TEEET R
(¢) @ # wAr wew  (d) Faa faer

o | @ - @ fera @forg e gt
gﬁmmﬁi@ﬁquﬁn—

-

(B) gRETI—T— .
(C) Rara—sa—wefaT
(D) Rarg—-Se—gm
el
faaa
(1) T &1 SferErd
(2) T B SEHSTR &1 e
(3) FEYE Tl & uHl B WU
(4) TRt fas
aE\E —
(@) A-(2), B-(4), C-(1), D-(3)
(b) A-(4), B-(2), C-(1), D-(3)
{C) A_I:'d')n B'(EL C'[3:|: D'(ll
{d) A-(1), B-(2), C-(4), D-(3)
AR # SO 6T T wdwerd e fdar
or?

(@) ad 1861 % (b) a9 1850 H

(€) 7 1871 % (d) g4 1881 ¥
et % @ o o onffes frar =81 27
(@) of¥aes (b) farl (Trh)

(c) e (d) Wfe® FaT Har

Article 20 of the Constitution of Inzialp?art of they &
(a) Prohibition Against (b) Prohibition against
Tarture Self Incrimination
A€) Ex-post Facto Law  (d) Double Jeopardy
Clause
1/1/ bgtl:.:;nedenpiri]:; n;:lsl'hrl::i tai:ii fgrm c.)f a t_:'ialogue A
uddhist Saint, The
concerned saint was -
() Nagarjun (b) Kumaril Bhatt
I:C;I Nagbhatt ,I,df NBBBSEHH
& what do we call balancing the need to use 12
resources and also conserve them for the futyre?
(a) Future resources (D) Resource
; conservation
(¢} Reducing u[’;i}' Sustainable
consumption development
}3-/ Match list-1 with list-ll and select the correct 13-
answer using the code given below the lists -
List — |
Book
(A) Mirat-e-Sikandari
(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-Insha
List =1l
Context
~ (1) History of Bengal
(2) History of Bahmani's Ahmad Nagar
{3) Collection of Mahmood Gawan’s letters
(4) Victory of Gujarat
Code -
(a) A-(2), B-(4}, C-(1), D-(3)
(b) A-(4), B-(2), C-(1), D-(3)
(c) A-(4), B-(2), C-(3), D-(1)
{#-(1), B-(2), C-(4), D-(3)
14/7When was the Census work done for first time in 14.
India?
(a) In the year 1861 . (b In the year 1850
Je] In the year 1871 (d) In the year 1881 o
135 hich of the following is not an economic -
//;thivitv? ‘
{a) Transportation (b) Farming )
(©) Service "u"oru.ntar‘r‘ Social
Service
- Page 3of 32
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16/ with reference to the Hyman Development 16 WFTa gy RUTE, 2021-22 9 e 4, frfafieg
Report, E}Jil—zz, which of the following A A W Fer weg & /30
statementisfare correct? . .
(1) India’s rank on thte Human Development () 1a fawmer <qemsias 4 s oy A0l 20203
'“d;"zhﬂs Upgraded from 130 in 2020 to 132 1309 w7 @ 20224 137 8 TS 2
in 2022. ATHF 3
(2) India’s Fank on the Human Development 2 R . AT ™ A 2020 %
'ndex has stipped from 130 in 2020 to 132 In 1309 2022 13279 Firg g 2
2022, *ﬁﬁmaﬁzmwmﬁwwm
Select the correct answer using the code given ?ﬁﬁfﬂq _ |
below -
Code - &L -
@ Only 1 (b) Both 1 and 2 (@) Fa 1 (b) 2 1t 2
Only 2 (d) Neither 1 nor 2 (¢} ®aq 2 @1 &2
"%'th among the following is the first women 17- BT BT wer Hi W e 8§ § w8
Speake‘r in Lok Sabha? _ (a) ¥y TR (b) Sfifam fiig
;MMEira Kumar (B} Urmila Singh
(€) Pratibha pati| (d} Sushma Swaraj _ (©) witrn wrfee ) g
15; Which of the following statements is not true 8. fyefafag U H | W & wEy ¥ B
regarding ‘Gram Sabha'? [y T8 8?7
(@) It has the powers and functions at the village (@) 390 BT 3R vt o TR T 94 GFR
level, like state Legislature has at the state Y TARMHT & Yo7 W |/ R
level, : '
ylts Powers are determined by the Central ) a1 wfdet &1 Pukor d=tg IWHN B
Government, ELEUI G - A
€It is a Village Assembly consisting of all ©) T8 & um wR A w v, e daga =
registered voters in the area of Panchayat. & B W Tolipa weraTa wieafag By £l
{d} (a) and (c) both (d) (a) =11 (c) BT
?//World Social Protection Report is published by - 18." favg wmfores wReny Ry TR # e @ -
(@) World Bank (B International Labour (@) R §% g (b) =R 24
Organization TG gRI
(¢} World Economics  (d) World Health (c) faza anféi w2 gRI(d) Ry WY e+
| Forum Organization &I
297 The “NISAR satellite” is jointly developed by 20. "Fram SR Preffag § @ f1 et g
which of the following organizations? g w0 9 el fa mr @2 _
A9 ISROand NASA ~ (b) ESA and NASA (@) FWr 3k AR () Svwy. sk S
(€) ESA and ISRO (d) ROSCOSMOS and () ST AW TE  (d) AR ok @
CNSA TA.0H T
?}'/ Allelections to the Panchayats are conducted 2. terudi @ < T T AT Fear 2 —
by - ‘ (@) I5u faters s () v srazenie
}ﬁ tate Election (b) State Legislature |
Commission ©) RE BT e (@) damd 3 s
() Election Commission (A} Panchayati Raj T
of India Commission
[D-1-23] 153101 Page 4 of 32

LW

~ay



gxample of Lotic ecosystem is - 20,
(a) Ponds _}M"Ri\.'ers
{c) Marshy area (@) Swamps
23. Which of t.he fo.llowin.g is MRNA vaccine ysed  23-
against Covid-19 infection?
(a) Sinovac (b} Moderna
(c) Sputnik (d) Novavax
% Which amon.g the following ruler of Kashmir 24
/ abolished Zaziya and Cow Slaughter?
Zain-ul-Abidin (b) Sikandar Shah
(c) Shamsuddin Shah  (d) Haider Shah
}} Which of the following Scorpene Class 25.
submarines was commissioned into Indian Navy
in January, 20237
(a) INS Karanj (b) INS Kalvari
INS Vagir (d) INS Vela
. Consider the following deserts and arrange them 26
in increasing order of their size (from smallest to
largest) -
(1) Great Sandy desert
(Il) Arabian desert
(1) Sahara desert
(IV) Gobi desert
Select the correct answer using the code given
below -
&0, v, 0, 1 (b) 11, 1, 11, IV
e, 1, 1v, (d) 1,11, Iv, 1.
1 Seaweeds are important source of - 27.
- (a) Argon lodine
(¢) Chlorine (d) Bromine
% When did the Water {Prevention and Control of 28
Pollution) Act was enacted in which of the
following year?
(&) 1974 (b) 1976
() 1975 (d) 1977
2/’;/In National Parks, Genetic diversity is maintained 29.
by -
& In- situ conservation (b) Ex-situ conservation
() Gene pool {d) None of the above
[D-Lz}] 153101 Page 5 of 32
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fes wRRefad® 3 o1 Sarewr & -

(a) 1Td (b) =&Y
(c) eRTrg &r (AT (d) Tofee
ufa)

ﬁﬂ%ﬁﬂﬂﬂtﬁﬁ?ﬂmnm&ﬁﬁﬂ
Wﬁm-lgﬂwaﬁﬁmm—ﬂm

1T'Tf|

(a) fFNa® (b) HTEI
(c) Wefi® (d) AraTdad

Frefafag § 9 &R & fFg e | Sifim
afre ) g @1 [ fEar?

a) Sl ST (0) ey e
(c) TrgEl TME (d) &g e

Prefarfag o § e veidE ool @1 gl B
S, 2023 # TRATA AT § mfaer fan mar?
(a) e vAE, d%w (b) ST, AT
(©) s TATE AR (d) AME.TATE. el

PR Wadl ® faar P qur 3=
ITF AFR B 920 HE H wanem By (T

PR ¥ wad fawga aF) -

(1) e HUST THRId
(EMEERIIIEE

(1) TERT Ao

NIRIEIRIESE

R Ry 1y me A W IR g -
(@1, v, 1, (o) 1, 1, 1, 1v
(c) 1,1, 1v, I @1, v,
W fare fred el W 87
() M & (b) T &
R i i N (¢ - 1) G He
ol @t g yguer feie) sftfae @
fr=rfarfae o v ad geman A
(a) 1974 ¥ (b) 1976 %

(c} 1975 ¥ (d) 19774

LT ey § ey fafquer ®1 I@-vE
foar s @ —

(a) 39—, w=eqoT g7 (D) TR RGN
(c) < ga gRr (d) SRiad # & B TEl

A
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30. :
Which of the following (Scheme — Year) is not

correctly matched?
(@) Rural Housing Interest Subsidy Scheme - 2017
(0} Sansad Adarsh Gram Yojana - 2014

(©) Shyama Prasad Mukherji Rurban Mission -
2015

(d) Deen Dayal Upadhyay Gramin Kaushalya
Yojana - 2014

20. Frafafd % A FA @ (@ - ad) g

afera =8l 87
(a) Tvel BIERET gexTe Afeds! W — 2017

(b) 3ATE aredt AT AT — 2014

(c) TerT TRTTE H@Wl warde e — 2015

(d) §9 Tarer SUTATY WHVT SIET Trary
2014

3/( Among the following, which country has declared  31- 2 A, 2023 &, feafafaa § 31 g 9y 3
to remove the British Monarchy from its Central g B @ o RN A @ R wonmg
Bank Currency Notes on 2" February, 20237 @7 g @I GO BI?

(@) Nepal Ab) Canada (a) “rarer (b) TSt
(©) Australia (d} SriLanka (c) aifxgfera : (d) sfrefep! _
327/ With reference to the “EL-NINO”, which of the 32 AA—AAT B et # fa=ferRaa wer 4 Ll
following statement/s is/are correct? ' FH T/ T 2R
1 — Ni i ) . ;
ot oTte ot of e snseimponte, - (o= 9t gy & A s 3 iy
. ‘ T URT] BT Ybe BT A €
(2) This warm current increase the temperature
of water on the Peruvian coast by 10°C there (2) @8 7 gNT 9% @ de W Ul & A9 5
by increasing the amount of Plankton in the 10°C a% del @l &, forad Rk G i e
acd, _ _ A AqrAT 99 ol |
| Select the correct answer using the code given 4 fev Mo T & W O ﬂﬁ'l{ ¥
below — &
Code - e —
(@) Only 2 (b) Both 1 and 2 (a) Faa 2 (b) Fr7 1 g 2
‘“{%nlyl (d) Neither 1 nor 2 () ®aa 1 d =7 ar19 e 2
:'-’;3’/ In 1918, the United Provinces Kisan Sabha was 33 1918 & ¥qad Wi far v &7 eq firg ¥
formed by which of the following leaders? a ﬁﬁ-ﬂ Adr A fasar eme ]
(@) 9. STATER AT AEw (b) argr IHEE A
(a) pt. Jawaharlal Nehru (P} Baba Ramchandra 3
}C? Swami Sahjanand  (d) Indra Narayan () @ WA= (@) 32 TR 2 3
Saraswati Dwivedi T 3

y Which among the following organisations was 34 fr=faRag § ¥ s dvea el # ara=R™

/responsible for throwing a bomb at Viceroy Lord TS BT ™ g9 G @ fore SeRaT of?
Hardinge in Delhi? o
(& Anited Patriotic (b} All India Labour @) FRes Sieied  (b) e Wt Ao

Association Association H e :
(c) Yugantar (d) Anushilan Samiti (¢) e (d) st afafa

3%, Plane of which Airline crashed in Nepal in 35 w28, 2023 % 5w vaRaza &1 RQuE Y §
lanuary, 2023? [ CRIDEG BIHT?
ﬁf Yeti Airline (b) Tara Airline (a) ofa vaRaET (b) TRT YIRS
(¢) Nepal Airline {d) Buddha Airtine (€) -9 TaReTgA (d) g1 TRaTE

[D-1-23] 153101 Page 6 of 32
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Mho is the Author of the famous Novel “All the
Lives We Never Lived”, which received the
Sahitya Akademi Award, 20227
48 5hobha De

(b) Anuradha Roy
(c) Anita Desai

(d) Sudha Murthy
37. Which statement is true for Finance Sector (Fiscal
Management) in the Union Budget-2023?
(a) Budget estimates 2023-24
expenditure is T 55 |akh Cr.
(b) Fiscal Deficit 2025-26, the target is to be
below 5.5%.
(c) Fiscal Deficit of 3.5% of GSDP allowed for
states.
(d) Twenty years interest free loans to states.
Which. of the following (Union Budget
Departments 2023-24 — Allocation amount
approx. < ) is correctly matched?
(a) Dept. of Health Research —¥ 9,155 Crore
(b) Ministry of Health - 89,155 Crore
(¢) Dept. of Health and Family Welfare —% 80,000
,Crore
Pradhan Mantri Jan Arogya Yojana — X 5,000
+ Crore
_?)// With reference of the election of the Vice —
President of India, which is declared void by the
Supreme Court of India, which of the following
statement/s is/are correct? |
(1) The acts done by him as Vice — President
before such declaration are considered valid.
{2) The acts done by him as Vice — President on
the day of such declaration are not considered
valid. )
Select the correct answ
below -
Code -
(a) Neither 1 nor 2 }WOHW 1
(¢} Only 2 (d) Both 1and 2

Which one of the following (Place of the revolt of
1857 — Start of rebellion) is not correctly
matched?
Lucknow — 4 June,
1857
(¢) Jhansi — 11 May,
1857

for total

v

er from the code given

(b) Barrack — 29 March,
1857

(d) Meerut — 10 May,
1857

36.

37.

38.

39.

40.

(0) arfrar e

e JeEN (RHR, 2022 WE TRy 4
mm'aﬁaam@[whéj
SE B 87
(a) P © (0) IrR™TT

(d) 3qem e

B gwe-2023 W fadm dw 4 ‘o
gawere) @ fofg B |1 I wE 82

(a) 2023-24 ® oI Al § o U 55 ARG

HRIe o9 €|
(b) 2025-26 @ [T IABMT BT B 5.5% A ™

A T e |
() S oA 0. BT 3.5% AAGEA 1R B I5]

Y AT |
(d) Tr=iT 1 drg ad & AT AR w |
ArefaReg 4 4 B E ([FWE ave fam
2023-24 — AT amdfed Wi X ) wel Ffer
7
i)wmﬂﬁﬁuﬁrm—g,ﬁsm‘m
(b) TqRey HATAYU — 89,155 IS I
(c) W=y Td gRdR Hvl A=A — 80,000
IS T _
(d) werTEEY ST SR TSl — 5,000 FRIS 3
ARG & S & farEd, R
AT g I A far a8, & e A,
e 3 | B W/ dud 98 2 /E7
(1) SRR & ©9 § 9 YbR B 9een |
IOd g g T eriffy A e g |
(2) SRRy & wT § 39 UHR @Y =g B
@ 1371 9us gr1 fhy Ty G 7 el
B E | |
M Ry Mg gE F GE SR BT BINT -

T —

@ ar 17 &2 (b) e 1

(¢) ®a 2 (d) ST 17T 2

fp=farfag ¥ | @1 T (1857 @ [d@TE T I

— RETE @1 o) wE gafera T 87

(2) oS — 4w, (b RER — 297,
1857 1857

() TRl — 11 S, 1857 (d) k& — 1078, 1857

Page 7 of 32
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41. O afeae drered, o gra & ° Fee g,
@ wwed # frafataa semi § 9 a9 @/9
LER-VA I
1. 98 WA & g frar o

4 .

- With reference to the Pope Benedict XVI, who
died recently, which of the following statement/s
isfare correct?

1. He was a native of Germany.

2. He was the first Pope to resign in 600 years. 2. g% 600 g4l 3 TRIET <7 Il gl 9y 9|
Select the correct answer using the code given S B T e @ 98 IR g -
below — '
. _ wHT — :
Code - (b) ,(_ﬁ _&pr
a) Haal 2 & 197 =l 2

Ja) Only 2 (b) Neither 1 nor 2 . @ @ 2t :

| o) dae 11q 2
(c) Only1 (d) Both 1 and 2 ?.5 t 1

/Tappa style of music was refined and deve!opedio 42. g @ @ el EESISIECR # ¥ fim g
in which of the following Mughal Emperor sﬁ HuTe B TR -1 qﬁq—,—d vg fawfad Eg'-?

Gourty (a) wTeTY (b) aTFHaR
(a) Jahangir )l{ Akbar "
MESTEl (d) e
(¢} Shahjahan {dl Muhammad Shah (©) geHIs
?} The Xylem in plants is responsible forﬁ‘m- deff 3 wrgew aRdags & foa RrER Bl & —
] (@]

Yapsporting~ Q (@ 3o (b) wfirit TS
{a) Oxygen (b) Amino Acid - :

(c) =T (d) Wt
jﬁl Water (d) Food

44, Prefafa § § B A FAF A 87
(a) gedt wx wfafes Ep 12 w 30 fAme are wR

?’4 Which of the following statement is true?
(@) Tide comes on the earth every day after

<T
oo

exactly 12 hours 30 minutes. E T 2
g

~  (b) [T WA HERFR B Qb IUI T € |

(¢) Ocean salinity is maximum at the Tropic of ¢) HETHTRI WavRT & d Hapx S T

Cancer and Capricorn. | G@Wﬁﬁ i
I

(d) If the sun, the earth and the moon are in a%
T () Tl v, gt R we i 2t a %
straight line then this situation is the situationf‘% @ ! T W A E

= Refr og waR @) Refy 2

Benguela current is a cold current of the

pacific ocean.

of small tide. -
o - '
/what was India’s rank in the world greenhouse 45 2022 % fagg o 9 a9 9t & Toge & 79
gases emission in 20227 5 o yv or?
(a) 10t ,U;ré“‘ {a) 10qf | (b) odi
94qr1
2(c) 11 (d) 12 (©) 1147 (d :
. ) 1241

12315300 > . ,,_
ks Ml
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46. 3l @ A A gafer Al wn AR R

/ Match list-l with list-Il and select the correct
. ec
answer using code given below -

List- | List - 11

(Diseases) (Factors)
() Peptic ulcers (1) Virus f:-rl.t
(8) Dengue 2) Protozoa ©
(C) Elephant Foot (3) Worm ?f}
(D) Malaria S (4) Bacteria |
Code - P'P\
@ A2, B3, Cl D) P

) B0, 3,0 ¢y
© A0, 82,30 Y o
(@) A-(3), B-(4), C-(2), D-(1) ©

a ' E(
/{ Which officer was known as ‘Bhagadugha’ duringf

vedic administration?
Revenue Collector
(c) Chief Officer of

(b) Messenger
(d) chief Officer of the

Forests Gambling
\ Department g
Wihich among the following is 3 constituent ofy
natural silk? E;?
-

,yNitrogen

(d) pPotassium
as the last in

(a) Phosphorus

Magnesium

Which of the following events W

&

chronological order? %
(a) Jallianwala Bagh {p/{Mcpiah Revolt o
Massacre Q
(c) Khilafat Movement (d) Home Rule o
Movement
. With reference to mineral resources, which of
?} the following statement/s is/are correct?
1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir.
minerals

2. India is import dependent for many
like Lithium, Nickel and Cobalt.

Select the correct answer using the code given

below -

Code -

(a) Only 2 (b) Only 1

(d) Neither 1 nor 2

47.

48.

49.

50

M FmE W WM aYE W ST @ YA
amforg —

¥ - I -0

(A) ufted a1 (1) frre

(B) ST (2) W

(C) Wit dfd (3) 7

(D) FAfT (a) famy

E[ia —_—

(a) A-(2), B-(3), C-(4), D-(1)

(b) A-(4), B-(1), C-(3), D-(2)

() A-(4), B-(2), C-(3), D-(1)

@) A-(3), B-(4), C-(2), O-(1)

Ay el wAE § HTEE T s a1

(a)wwaﬂamzmtmﬁwwgaﬁm
arett S

(c) wirel! T T (d) Farm fa=mT o1 F=E
CIBEaN] CIEEI R

%ﬁﬁmﬁﬁwﬁmhmmqmmaﬁa

27

(a) BRBRE (b) -TTFEIoT

(c) AT (d) wrefIrH

(a) Sfergrarar & (b) AT fasre
BTG
() faewd argTe (d) 819 el A&

@%ﬂmmﬁ3%ﬁ”#ﬁﬁﬁﬁﬁﬁﬁ

P /A qE B/ E

1.w%mmzsmmwmaﬁmmm$
mﬁ%ﬁmmmﬁﬁ@

5 WRd aryd @rral a2 Nidraw, fyea @A
ﬁmﬁﬁﬁmwmﬂﬁﬁhm

mﬁaﬁmﬁﬁgﬂﬂﬂﬁ?ﬁijﬁﬂr

a‘;hf_

(a) @ael 2

(c) BV 1 3R 2

(b) @rael 1
(d) 71 a1 197 & 2

‘éﬁﬁomlandz
"F%mmmn

Fu;;:.‘_-',—lpﬂ?jz

TOTie
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E}’( Natur . :
/ al resources should be used by the present 51. yrepfivs vl @t adae Al &R g weR g

generationinsuchaw i is mini
anerafinn namra!a:; ir;i:r Lfelstji:\ee : Ef:tn;::; Furinr fwar g gl R @ [
of dsielapmment would b s ereuy B, o1 ag RAY gER B RABRI wEErpe
(@) Organic {8/ sustainable (a) Sifae R () T 1 |
Development Development .
(c) vl R (o) e fw

(€) Social Development (d} Economic
Development

ﬁz{ The resignation letter by a Judge of Supreme 52. wdfed wmAErd @ (S R B AT

Court is addressed to - @iy B & —
(a) The‘ Chief Justice of (B The President (a) TRA D el (b} wrgfa el

India * =rmedrer @
(€) The seni d ‘ ini : -

enior most (d) The Prime Minister (o) <= e & (d) g @
Judge of Supreme A 5
Court kL
Fy hich of the following is not carrectly matched? 53. frefRac # @ @ A1 TE pfer TE &7
(a) Gulbadan Begum — Daughter of Babur (a) eras T — aEs el
(b) lltutmish — Father of Razia (b) gogafer — <frar @ fodr '
- (¢) Hamida Banu Begum — Wife of Allaudin Khilj (¢) giaT ar AT — el Raerelt @1 a1
{#4hah Turkan — Wife of lltutmish (o) e q@ — gege il
54. ﬁwf?rﬁaﬁﬁﬁa#ﬂﬂmn?%ﬁéﬂmaﬁﬁ

Which of the following Provision is a part of both
Directive  Principles of State Policy and orr Hf3rP Fefait T BT g AT a7

Fundamental Duties? ; W .
(Maﬁrﬂ%mﬁaﬁm T M oIl

(a) participation of workers in management of

industries . (b) Tt 1 R

protection of envireanment - |

(¢} Guardians toO provide opportunity for (c) sifimad @l B e & araen R
(d) wAF ATTRE WE

education to children

(d) Uniform Civil Code
to the sC

55. ey aee 2023-24 W TroTel B AR araed

heme wise allocation in

./ With reference |
the 2023-24 Union Budget, which of the & ol o Frer werlt A [ B @ /q FUA
following 5tatement,fs is/are correct? ¥ &/

) compared to the previous year, hlghe.st (1) frea g4 B e § e ¥ e A
percentage of decline has been recorded in_ il weidl ol i ¥
- A. . :
the allocation for MGNRFG | () v N 5 e S R 3
(2) compared 10 the previous Year, highest JUE . o -
percentage of growth has been recorded in ﬁll e et gha o
i | Jeevan Mission.
he allocation for Ja
SeI:*:ct the correct answer using the code given T:'T ?ﬁ? HT P YA RD el IR T
oy ] —
pelow ~ W —
ode - =
: pither 110" 2 (6) Only 1 @amime 2 (b) P 1
{d) Only 2 (c) ;_‘r};fr 1 3ﬁ7{ 2 (d) @t 2

Page 10 0f 32
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(d) A_(‘q'}! B-(B)l C-(l)' D—(2]
7- Which one of the following (Tributary — River) is 57. frefufira A @A A (FEEE 8 — AL T
/ not correctly matched? _ -{[qum T&} 27
(a) Manjra — Godavari () Hemavathi — Kaveri (a) FoRT — TIETa (b) BHIE — GO K]
(c) Pranhita - (d) Malaprabha— ) grorfar — FEAE (@ B
Mahanadi Krishna _ _ ?
?7 consider the following statements with 58 JTR RO @ wied 3 FrefaRad FaAl fa=m
reference to Uttar Pradesh - o — .
(1) Forests constitute about 12.8% of the total (1) 99 B B Bifare & BT o 12.8%
geographical area of the state. . a2
(2) The districts of Jaunpur, Ghazipur and Ballia ' (2) S, TR sie afrr forat # i T
have no forest land. - A a8 2
Select the correct answer from the code given 3 Ry T TE 9 s B
below — 7T - s
Code - . .
(@) = @1 1 71 &1 2 (b) i 1 74 2
I;{Y Neither 1 nor 2 (b} Both 1 and 2
- (c) Tad 2 (d) Had 1
() Only 2 {(d) Only 1 . . ;
. Q. :
59. wWhich of the following statements 15 correct frefafea & i‘@l Jevge fdl & faud
about laterite soil? ' B AT HAA el 87 o ot S
(1) This soil is develeped in areas with high (1) T8 ILE Tﬁ‘a GIEKIGIRE]
re and h i fRAefia g &)
temperaty eavy rainfall. _ ) _ "
(2) It is poor in iron oxide and aluminium. . (2) zu Mg Fﬁgé}m Td UeEAad @
Select the correct answer using the code gIVen ) o SR 2|
below — A g Ty g ¥ W SR g -
Code - FT —
(a) only 2 (b) Neither 1 nor 2 (@) Bad 2 (o) A A 1T & 2
(e) Both 12042 ) Only 1 (c) ST 1 T 2 (d) e 1
[D-1-23] 153101 S TIED
e M
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56. wef-i @1 AN A gAfer BRI SR A fag

Match list-1 with list-Il and select the
ansm:*er using code given below the lists — rorredt
List - |
(Theories of Population)
{A) Optimum Population Theory
(8) Social Mal-adjustment Theory
(C) Demographic Transition Theory
(D) Population-Food Supply Relationship Theary
List- 1l
(Propounders of Theories)
(1) Thompson
(2) Malthus
(3) Edwin Kennan
(4) Henry George
Code -
(a) A-(1), B-(2), C-(3), D-(4)
AB) A-(3), B-(4}, C-(1), D-(2) *
(c) A-(2), B-(3), C-(4), D-(1)

— P

g e @1 WA B gY el v g —
Tl - |
(crrei @ Rigia)

(A) SoeRT SiereEen g

(B) wrmifirgs g fagrst

(C) STt TmieT Rgid

(D) SERIET—WI amyfd Rrgr
3 -1l
(Rrgiai @ wliae®)

(1) TP

(2) AT

(3) v @

(4) &1 TSl

@e

(a) A-(1), B-(2), C-(3), D-(4)
(b) A-(3), B-(4), C-(1), D-(2)
(c) A-(2), B-(3), C-(4), D-(1)
(d) A-(4), B-(3), C-(1), D-(2)
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3
/harak Samhita

is divided inte how many
chapters and sections? :

@) 80 chapters and 60 chapters and

7 sections 8 sections
{/KZD chaptersand  (d) 100 chapters and
8 sections 5 sections

According to Economic Survey 2023 about
services, which statement among the following is
not correct?

(@) Fashion, grocery and general merchandise
will be captured nearly two-third of the Indian
e-commerce market by 2030.

(b) 75 digital banking units announced for
transforming financial services.

(¢) Credit growth to services is above 16% since
luly, 2022, |
P.M.I. services witnessed strongest expansion
since July, 2022,

Given below are two statements, one is labelled

as Assertion (A) and other as Reason {R) -

Assertion (A) - Population control is necessary to

maintain the environment of the
country.

Reason (R) - Due to the rapid increase in
population, the environmental
balance is maintained.

Select the correct answer using the code given

below —

Code -

(a) Both (A) and (R) are true but (R) is not correct
explanation of (A)

{b) (A) is false but (R} is true

(c) Both (A) and (R} are true and (R) is correct

explanation of (A)

(A) is true but (R) is false

?/ﬁth reference to the Deakin University, which of
the following statement/s is/are correct?

(D-1-23] 153101

1. It will be the first Foreign University to enter
India as an independent campus.

2. It is being set up in Maharashtra.

Select the correct answer using-the code given

below -

de -
@ Only 1 (b} Only 2
¢) Both1and 2 (d) Neither 1 nor 2
_-_‘—-—-_._

60. mﬂﬁmﬁrﬁ#mﬂaﬂqﬁe‘iﬁﬁmm

61.

62,

63.

(2) 80 3rzrd 3R 7 W (b) 60 3ty 3y ;-
() 1203ty iR 8 Ws(d) 100 32273 gy

ﬁmﬁ%aﬁﬁmﬁmﬁamﬁ&ﬁ,ﬁ%
FA H U B AT FAA FE TE 22

(a) dyF, AT SR TRA wdSTEY 203
R B AR @ T o
Ry & aroe werrr v

(b) 75 fefrem dfbm saEal @1 gy
A1 ® gEAT b fow F T

(c) STells 2022 ¥ T U1y AR 16% 3 <
gl

(d) dt.gmams, Famei 3§ 2022 S8 ¥ W9 W
farR 2@ )

4 21 wum € R A v @1 ffeen

3R IR F BRI (R) T TAT & —

AMHUT (A)- 9 F GAfaRY B g7 @

forg ST = v |

@R (R) - 0T H 19 gig & w07 ggig

AT g1 Il 2 |

W fed T me @ 9 sew gfiw -

EE\E:_

(@) (A) 3% (R) ST ¥e & fFeg (R), (A) 9 3
ATET Fal Bl

(b) (A)TerT & faheg (R) Wiy .

(c) (A) 3R (R) T wew € sk (R), (A) @)
RSN FHAT B

(d) (A) I & =g (R) Torgy &

Qi favafdemem & weeof o fafafag @0

9 e A/ e g/

1. 98 U 3999 9REy @ Angy @ R § 00

Ex AT UBer fAee favafdenea €|

2. 30 MERTg ¥ wenfig far o <’ §)

M fed T e @ gE eR e SR g -

@'...

(a) waet 1

(€ gFi 1 ¢d 2 -

(b) dad 2
(dFar1smer2

Page 12 of 32
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/6/6./ Which one of the following pairs (Schedule - 64- fop=r gl ¥ QA B T (R @ S

Subjects) is not correctly matched?
(@ Third Schedule -
Affirmations

@ Ninth Schedule - Allocation of seats in the
Council of States

(c) Eight Schedule ~ Languages
(d) Tenth  Schedule - Provisions as to
disqualification on ground of defection

/ In which year, “Mid-day Meal Scheme” was
renamed as “P.M. Poshan Scheme”?

(a) 2019 (b} 2020

(c) 2018 @/2021

Which of the following is not a biodegradable
polluter?

(a) Faecal matter

6/;'7.

{(b) Urine

@, Pesticide

{ 67/ )6y which of the following Acts, the system of
‘Chamber of Princes’ with 120 members was
(a) Act of 1919

ﬁ/éarter Act of 1853
(c) Act of 1909 " {d) Act of 1793

88. To whom does the credit goes for the
sugarcane

) Domestic waste

created?

development of coconut- and

agriculture in Philippines?

(%panish and (b} Hollanders
Americans

{c) Britishers

%'//Who among the following women freedoTn
fighter was not associated with ‘Quit India

(d) F-rench-

Movement'?

(a) Matangini Hazra

(¢) Shanti Ghosh
?Z,Which of the following (Port-Country) is not

torrectly matched?

Mnntevideo -

Barua
'{y/Kanak Lata .
(d) Aruna Asaf Ali

(b) Rotterdam —

65.

66.

67.

68.

69.

70.

_ fagz) | gafera e @7
(a) ) SIRUT — WU A yforsm & wod
(b) =T} TR — XTI H T BT ST

() ol TG —
(d)mw-— gl URadad @ MR W

el
e w1 g, qrgor AT #

fﬂmaﬁfWWW?

(a) 2019 # () 2020 %

(c) 2018 # (d) 20211 |
e Q@ W A TR
27

(a) el Tard (b) H

TS A st fry ) areen @ T o
(a) 1919 @7 AT (bi 1853 &1 Tl TdT
(c) 1909 7 aIf@w  (d) 1793 &1 AT
freiug=a & MReTe o =1 @ Py e B
g foeaepT ST 87

(a) ¥ ¢4 (b) EfSrogaiiial @I
ARESTaTTaTT &7
(c) fagaafaar &1 (d) WwiEaral &

Preforfaa 3 9 @i wfer wdar JAE AR
VISl srerer T ) wafta wEl 27

(a) M BT (b) T I Al

(c) wrifer &
Prefaifaa 3 § @ (@FETE—2w) FE AR
T8 87

(a) Hivedifen — Sora (b) WexSH — TS
(c) gt — (d) STl — MR

(d) U BTHE el

Uruguay Netherland
) Igarka - China (d) Jakarta —Indonesia
o Page 13 of 32
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/)/ With reference to the SCO Film Faestival-2023,
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which of the following statement/s is/are

correct?
1. The SCO Film Festival is being held during

India’s  Presidency of the shanghai
Cooperation Organisation.
2. 5CO Film Festival will showcase the films from
the SCO countries,
Select the correct answer using th
below -
Code -
(a), Neither 1 nor 2 (b} Only 1
Both 1 and 2 (d} Only 2
78 Aihich one of the following (Lake — Country)is not
correctly matched?
48) Onega - Canada
{c) Maracaibo—
Venezuela
73. Who has written the book “From Dependence to
Self Reliance™?
(a) Y. Venugopal Reddy (@) Raghuram Rajan
(c) Bimal Jalan (d) C.Rangrajan

74, Consider the following statements concerning
the powers of the Supreme Court to issue certain
writs to stop violation of Fundamental Rights —
(1) The Supreme Court has power to issue writs

like Habeas Corpus, Mandamus, Prohibition,
Quo Warranto and Certiorari which is
enforcement  of

@ code given -

(b) Baikal - Russia
(d) Michigan — United

State of America
73.

appropriate  for  the
Fundamental Rights.

(2) Parliament may by law empower any other
court to exercise within its jurisdiction the
powers given to Supreme Court,

Which of the above

statement/statements isfare correct?

Select the correct answer from the code given

mentioned

below —
Code -
(@) Only 2 {b} Only 1
fc) Nei
either 1 nor 2 }%Bcth 1and2

7% /Which one of the following is not true about the  75-

total outlay in the Union Budget 2023-24?

(a) Interest payment  (b) State share of taxes
{20%) and duties (18%)

(¢} Defence (8%) ' Subsidies {9%)

71.

72.

74,

vgdial  fre  wElea-2023 @ wed H,

Preafafene @i i 1 @ /A T8 8/

1. WEIE T Yo @) wRd @ SnAsdr @
2 vadian fver waRm smafera faan
TIT ¥ET & |

2. vaxfrel firen welemg o vadiall e @
vt fawarg omnf |

dra a1 g 1 ogEnr R wél I B

T BT —

E'E\E J—

(@ = dr 19 ar 2 {b) Tae 1
(c) g 1 ug 2 (d) Faa 2

frsrfafag § @ s Ga —<m ad gafed

TE 27
{a) 3T — FTST {b) dwrel — WA
(c) HRTFTZET — (d) frdirm — g

BEEC) e it
ey feid ¢ Aew Rer’ qRae & dE
¥

() ard, Jupmare ¥ET (b)) TERTH RO
(¢} fasra orreT= (d) & RIS

JFy @ foro Re o &va @ ufdd @ e A

3w Ry Ty d?

(1) Seaam =mer § 98 Afda wed @ 6 ag
49 gmefipror, oRerew, gfaty, sfaer -
geo1 SR Sy Re, i e SRRl B
o F @ fag s @1 3w Re @ g
TR [qHAl 2 |

(2) 5w @1 SIRIER 2 6 g8 dr g a) fEe
a0 WU BT AT EIRE R
el @ iR Seman e @ TS E
wIfgeal T WA @Y Adhdl © |

SRIFT FAT Y B /W IR U 8 /7

T R 1@ FHE #F W SR BT AT

Hifee —

T — |

(a) Had 2 (&) Taa 1

() Far 191 & 2 (d) 13k 2 3MI

=T qore 2023-24 A ge wRarg § Frefared

§ 9 B W HUT e A8 87

(a) =TST 7T (20%) (D) FRI Yd Pobl 7 I
&1 TSR (18%)

(d) aferst (9%)

(c) & =a7 (8%)

[D-1-23] 153101 Page 14 of 32
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7%(%0 among the fO“Owing ha

;s S
prime Minister of New ZEaIan:?:T Named as the
a

Jy’/Jacinda Ardern

(c) Carmel Sepuloni (d) Chris Hipki
ins

?/ The aquatic plant Commonly used a5 bio fertili
ilizer
in the water-logged rice field js -

(a) Wolfia

)ﬁi Azolla

. 78, which of the following is/are
7 poverty?

(1) Absolute poverty

(2) Relative poverty

(3) Subjective poverty

(4) Functional poverty

Choose the correct answer using the code given

(b) Trapa
(d) LEmna

the type/s of

below —
(a) Only3and 4 (b) Only1,2and 3
Only 1and 2 (d) Only1and 4
79, Which of the following elements is not a Noble
4 gas?
) Radon (6) Krypton
c) Argon (d) Actinium

}g Which of the following hormones is secreted by
the Beta cell of Islet of Langerhans of Pancreas?
(b) Adrenalin

{d) Glucagan

(a) Aldosterone

J&¥ Insulin

* Which Indian origin businessma
elected as Mayor of London Borough of
Southwark for the second time?

(a) Gautam Adani (b) Sam Dalton
+(¢) Sunil Chopra “Neeraj Patil
82/ .Consider the reign of following Peshwas _and
./arrange them in chronological order —
(1} Balaji Viswanath s
(I} Bajirao |
(Ill) Narayan Rao
(IV) Madhav Rao |~

n has been

given

76.

7.

78.

79.

80.

81.

82.

fr=fafad # 3 fd Sad, 2023 % goievs &
YAl @ WO W g T 8?

(a) SIf¥eT 3rgA (b) Y fopy

(c) Brfd HATT (9 forx feufda

S e R 99 Wi wfad e @ owd |
Sg-gder @ WU H WA d an W € 98

{ga)a’lﬁ‘—‘?ﬂﬂ (b) g

{C)QTﬂ}f(—'ﬂ (d}f:?q:ﬂ

Prefafira W R @i /¥ P /% gaR
2/87

(1) et () et

[zjmﬂﬁm

{4);{&?{?1’[?‘1?5%%57@

i fg T @E A WA I A AT —

(a) e 3 TH 4 (b) ®add 1, 2 Td 3
.(C}Zﬁaﬂlﬁrﬁqz' (d)ml@‘l
Bffad & @ @ W1 ded e A T 87
(a) XTSI (b) e

(¢) 3t (d) gferefra

ﬁm%ﬁaaﬁﬁrn’ﬁmgmﬁmma%ﬁmﬁ?
& argae @ e de (PIReRd) g1 enad

rdar 87
(@) TeeRSRA (b) T
(c) ggfer (d) TerrT

TR Bl @ fobwl AR BT AeYdld B T
W FH R G GR AT T 8?

(a) T arsTH (b} I7 STee

(c) e A (d) Ivw mifed
frrfarfiaa Yot & e el i) R S
qT I BIOHATTHR AR $IfoTg —

NEIGISIBCECEIE]

(1) ISR |
(1) ARTAYT T
{IV) HIETg I79 |
MERENEML SRS IR (A
aie —_

@, 1, 1v,
e 1,1, n, v

(b) L, n, v, 1
@) 1, 1, 1, v

Select the correct answer using the code
bE[ow._
Code - _
@, 1, v, ALY,
© 1, m, 1, v (@ 1, 11, 1, IV
D-1-23) 153101 Page 15 of 32
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83. Which of the following (Poetess — Compositions) 83. Prefaft % 4 wi (waARE — GXE) W@

is not correctly matched?

(a) Sahajobai - Sahaj  (b) Son Kumari= Poem
Prakash of Swarn Beli

(c) Daya Bai—Vinay  (d) Gangabai — Ganesh
Mlika Dev Leela

% Consider the following statements about
/sustai@hle development —
(1) Based on the global indicator framework and
data produced by National Statistical
Systems and information collected  at
regional level, the United Nations Secretary
General presents an Annual Sustainable
elopment Goal Report.

(2) Gigbal Sustainable Development Report is
produced to inform the quadrennial
suﬁsinable development  goal _review
deliberations at the U.N. General Assembly
once every guarter,

Select the correct answer using the code given

below -

Code -

(2) Only 2 (b} Neither 1 nor 2

1‘-_(9/13:5]25 land2 (d) Only 1

with E'é;ference to the invaders in ancient India,

which—one of the following is the correct

chronological order?

(a} Sakas — Greeks — Kushans

,@’ Greeks — Sakas — Kushans

\ (c) Sakas - Kushans — Greeks

(d) Grééks — Kushans — Sakas

answe"r_fusing the code given below the lists —
List —1 List =1l
(Archaeological site)  (Present location)

{A) Nevasa (1) Rajasthan
(B) Isampur\if%}i] Tamil Nadu
(C) Didwana * (3) Maharashtra
(D) Gudiyam cave {4) Karnataka
Code -
{a) A-{3), B-(2), C-(4), D-(1)
(b} A-{4), B-(3}, C-(1), D-(2)
A-(3), B-(4), C-(1}, D-{2)
(d] A'[-?*L B'M’]r c'{z:l: D'(l}

84,

85.

£?/'Ma'c;:\’iﬂ"tst-I with list-ll and choose the correct 86.

Hfera e 27

(a) TESATE — WEw (b) A= TER — ¥
WamTel et & wigar

() gurand — fam (dy TrTTTEaTE — T =g

 gfeyEr riGl

T Re @ wedl # FAEfefEd TN W

feme #forg —

(1) ARaE qud wxa QT e A
el g TR e AAm MR @
daferd qEA @ SR W RGN
qeref UF A @R e @
e wegd & ¢

{zjﬁﬁwﬁmvﬁﬁmmﬁﬁéﬁmﬁﬂﬁ
e R G waria  faem
e @ R @ gRdEE 87 S

U @i, =

ﬂZ\E_

(2) B 2 ) Far 1 AME 2
(c) g 17d 2 (d) daet 1

g T @ URd UY SOl @ gad
ﬁﬁ%@ﬁﬁﬂﬂﬂmwﬂﬁm@ﬁqﬁ?
(@) T — TATR — T

(b) FATH — D — HUT

(¢) IIH — WU — FAT

(d) AT — FHHVT — TS

| B -1 d gafera aferg aen W e
¢ HE W HE I AT —

- -l
(qRTanfeas <era) (@e e )
[n]gjnﬂﬂ (1) ISR
(B) TN PAGIECEIE
(C) Srear {3)}%1?11@
g TReAT [ (4) FATCF

(a} A-(3), B-{2), C-(4), D-{1)
(b} A-(4), B-(3), C-(1), D-(2)
(©) A-(3), B-(4), C-(1), D-(2)
(d) A-(3), B-(4), C-(2), D-(1)

[D-1-23] 153101 . Page 16 of 32
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which of the foliowing is

V%

k
(a) 1 February ‘ﬁ -
r
(¢) 10 January (d) lSJanE:rr\vf

EVWhich of the following Scheme
not the Central Government Prog

Uttar Pradesh Government’s pyq,

<t
/Programme i
ramme and it ig{;

gramme? =
sf) Ganga Expressway  (b) MGNREGA o
(¢) Pt. Nehru Utkarsh  (d) Gramin Swasthya
Mission Mission
y Human heartis made up of how many chambers?
 (a) Only three (6) Only two
(c) Only one AH0nly four

is correctly matched?

?9/ Which one of the following (Passes - States,fu,T_E
(a) Mana — Himachal i

(o)
o

(b) Aghil = Arunachal =t
—

Pradesh Pradesh
J&¥ Niti — Uttarakhand.  (d) Diphu - Ladakh
9,///- The Indian Biological Data Centre is being set up
in which state?
(@) Punjab Haryana
(¢) Gujarat {d) Uttar Pradesh %
82, Match list-l with list-ll and select the correc{;‘ri,':-‘
/ answer using the code given below the lists— =F
List - 1
(Sustainable Development Goal)
(A)SDG-10
(B)SDG - 13 <
(C)sSDG - 14 E
(D) SDG - 15 (‘t%
List - (I <t
(Related With) o

(1) Climate Action

{2) Life on Land

{3) Reduced inequalities

(4) Life below water

Code - ,

(a) A-(2), B-(3), C-(1), D-(4} *
S A-(3), B-(1), C-(4), D-(2)Y”

() A-(3), B-(2), C-(4), D-(1)

(d) A-(1), B-(2), C-(3), D-(4}

89.

80.

91.

92.

World 87 =1 # & @1 w1 “fave dedven R & w0

ST ST 272
(@) 1 ®Ban () 2 wegh
(c) 10 STTaR) @ 15 a8

- FrafaRad 7 A w9 W ante 3 wweR

&1 SRl A8 € R T8 IR Uy IR 90
AT 87

(a) T QIR d (b} T3y

() gfed gw Iopd  (d) Ariior wWrea finm
ST :

g ged fhee Tvaxt (GEdi) &1 9497 g 27

(a) Baa A (b) Haa 2

() Hasl UH (d) Has IR

freferfiag 4 4 9 W U6 (R — I /B
R gew) w1 gafea €7
(a) AT — fearae w2 (b) sifere — areviad

yaT
(¢) Hify — sREs (d) A, — @gE™
TRda Sifdd €er o fow v 3 wifda fem
ST W& 87
() goird (b) o
(e} ToRwE (d) IR Yo

-l B g1 F gafera AR g gl @
W19 fd T Fe ¥ wd IR @ gae difew —
G-I
(wrera R wes) -
(A) THALSH. - 10
(B) TSI, - 13
(C) Ta.dsh, - 14
(D) THBLS. - 15
I - -
(Frafaa) )
(1) Sterary fevar
(2) 5T WS
(3) SRAATIATST H FH
(4) R T S T SiE
i :
(a) A-(2), B-(3), C-(1), D-(4)
(b) A-(3), B-(1), C-(4), D-(2)
() A-(3), B-(2), C-(4), D-(1)
(d) A-(1), B-(2), C-{3), D-{4)

[D-1-23] 153101
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Which of the following cities of Uttar Pradesh is
not included as the venue for 11 meetings of 200
sessions of G-20 during India’s Presidency of the

grouping?
(a) Varanasi {b) Agra
Kanpur (d}) Greater Noida

Which one of the following place is the
confluence of the river Alakhnanda and the
B_hagirath'l?
{4} Dev Prayag (b} Karn Prayag
{c) Rudra Prayag {d) Vishnu Prayag
Match list-] with list-1l and select the correct
answer using the code given below the lists :
List - |
(A) Article —32a %
(B) Article — 315 Pacs 5
[C) Article — 280
(D) Article — 338
List-
(1) National Commission for Schedule Castes
{2) Finance Commission
(3) Public Service Commission
(4) Election Commission
Code -
(a) A-(1), B-(3), C-(4), D-(2)
(b} A-(3), B-(2), C-{4), D-(1)
(c) A-(3), 8-(2), C-(1), D-(4)
A-(4), B-(3), C-(2), D-(1)

-1

Make the pairs of chief rivers of their place of
origin =

Rivers Place of origin
(A) Yamuna~. (1) Sihawa

(8) Krishna~_- 742} Nasik
(C) Godavari o ) Mahabaleshwar
(D) Mahanadi Y4) Yamunotri

(a) A-(4), B-(2), C-(3), D-(1) -
(b) A-(4), B-(2), C-(1), D-(3)
(c) A-(1}, B-(2), C-(3), D-(4)

M-{a}, B-(3), C-(2), D-(1)’

The river situated along the border between the
United States of America and Mexico is -

(@) The Colorade y‘rhe Mississippi
(c) The Amazon {d) The Rio Grande

93.

94.

95.

96.

g7,

aer wy @ Frefefad wEd d A B W
R @ AT B ARE G-20® 200 Al A
113958 @ forw i @ w9 H Wid e 82
(a) aRURA (o) AT
() FTTYR (d) Trex ST
Freqfafig # @ foa WA WX AAPTHT W
arfRef & e 27
(a) ¥F wATT (b) ot T
(©) ¥ FaTT (d) ey T
T“[ﬁl'! = Wﬁ_llﬂgﬁﬁqﬂﬂﬂmamWﬁ?
3 fon o e W A SER AT G -
T - |
{A}eﬁ‘&ﬁ' — 324
(B) areie — 315
(C) arede — 280
(D) arf=dE — 338
GG
(1) rfr st oy S
(2) forr amem
(3) YR 3rET JTART
(4) Frafemr ST
a-'z? —_
(a) A-(1), B-(3), C-(4), D-(2)
(b) A-(3), B-(2), C-(4), D-(1)
(¢) A-{3), B-{2), C-(1), D-(4)
(d) A-(4), B-(3), C-(2), D-(1)
qRa ) W AR @ 9 ST wrdl S
TG —
Afegl EEULROE |
(A) TIAT (1) fugran
. (B) @M (2) Mf®
(C) METad (3) TEEATAR
(D) WETHI (4) TR

(a) A-(4), B-(2), C-(3), D-(1)

(b) A-(4), B-(2), C-(1), D-(3)

(c) A-(1), B-(2), C-{3), D-(4)

(d) A-{4), B-(3), C-(2), D-(1)

HYad Ty AMRET e

e AfarrenT & ‘cﬁﬂlﬁm o
(a) FHIANST
(c) 3G

(b) Afafmd
(d) Rar 73
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9}/ hivanasamudra and g
: alpakka _
/fmportant for - m are respectively

(a) Thermal Power ang (_55/

del p
Nuclear Energy Yee! Power ang

Nuclear Energy

(¢} Nuclear Energy and (d) Solar Power ang

+ Hydel Power Nuclear Energy

?m February, 2023 India’s biggest helicopter

manufacturing plant was inaugurated in which
one of the following places?

(¥ Yumkuru, Karnataka (b) Chakeri, Uttar

Pradesh
(¢} Coimbatore, Tamil  (d) Nasik, Maharashtra
Nadu

yﬁ. Which of the following is known as laughing gas?

(a) Chlorofluro Carbon () Ammonia

ﬁ Nitrous Oxide (d) Carbon Monoxide

1. With reference to the representation of Uttar
Pradesh in Parliament, which of the following
statement/s isfare correct?
(1) Uttar Pradesh has 31 seats allotted for Rajya

Sabha.
(2) 80 members of Lok Sabha are elected from
Uttar Pradesh.

Select the correct answer using the code given

below -

Code -

f@l/Bcth 1and 2 (b) Only 1

() Only2 (d) Neither 1 nor2
p}ﬂﬂle of Human Resources in Economic

development, which of the following

statement/s isfare correct?

1. Effects of
population growth.

2. Effects of popuiation growth in economic
development.

Select the correct answer using the code given

ecchomic development on

below —

Code -

(@) Only 1 (b) Only 2

(€} Neither 1 nor 2 (dv»Both 1 and 2
[D-1-23] 153107

9. fararrerE G4 demaed mae: e farg Heey
7

(a) 9rq &l w4

(b) Te wifaa
iy ol aifEm
(c) syfireTa et .gd  (d) R i o
oIl Fifda gl pae i

99. gad), 2023 # RA & WAy 49 Beldiex i

o geEed frefafed 1 @ fFE wm m
g&naﬂ?

(o) THd, IO ST
(d) =R, HERTE

(a) g, FCH
(c) ragR, AAeTg

mu,iefi:ﬁﬁgﬁﬁﬁﬁnﬁl%qﬁﬂmawﬁmﬁﬁﬂ?ﬁ
wq H S A 27
() GeiRTERY @ Y (b) SFRAET @
‘C}Wﬁaﬁmﬁ(d)@éﬂwm
G| .
101.wﬁﬁ?ﬂwﬁﬂfﬁqﬁrﬁﬁa$mﬁﬁ.
fyerffiag o F 9 S w2 /€7
.:nmwtﬁﬁﬂﬁmﬁﬁﬂmm

g1
(2]3%3?%%30@%?;1‘&51%%«:%
2 ¥ '
i Ry g e § IR g -
&e —
(@) ST 1o 2 (b) Haa 1
(c) ®aa 2 @ a1 a2

102, ayifdfes faama & AId SERE @1 AR @ FeH
¥, Frafafira dori Q@ W/ A w88
1. 371 @ &1 SrRieEn gis W T |
2, STRE gid @ e fagra o) W |
49 B T BT B oMK R TE TR A A
2 —

EI:\_CI-—
(a) Baat 1 (b) &ad 2
() &y 191 & 2 (d) M1 1 3R 2 -

Page 19 of 32
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1}‘/Which of the following s not a sustainable

development goal targeted to be achieved by

20307

{a) Zero Hunger

(¢} Good health and
well being

{b) Gender Equality
WSpace Research

'Ds-ﬁmﬁ'@ﬂﬁﬁﬁ?mwﬁmﬁﬂﬁqﬁl

2 7 2030 @ Wi FR7 BT T T@ MY B

(a) s (b) Sfres TwTe
(c) sreot WRen wd (d) ofaRe FrIHaI=

HATR |

- Hangul-deer is found in which part of India? 104. wyeey & s w7 & &77[a A f&=or Ty Ein)
{a) In Rajasthan {t) In Kerala 8?7 :
jg},ln.lammu and (d) In Assam (a) TSRO 7 @ EAG! ")T
¢ Kashmir (o) Trey SR FTIR A (0) S L
5. First National Centre for Marine Biodiversity 105. +Ial &7 WeIf JTAE X BIY 7T AT
{(NCMB) of india is situated at - (AN wH L) fem € —
(a) Puducherry Jamnagar (a) ggey A (b) SR §
(c) Mumbai (d) Bhavnagar (c) fad 7 (d) Wf‘
106, With reference to the post's in Secretariate of the  106. oG & afarery # w2l & GECEC AR
/F'arFiarnent, which of the following statement/s FAWT/F T qE &/ E?
jsfare correct? (1) wE ySE wed @ dArEeg @ ﬁ;ﬂ
(1) Cummcrn posts may be -:reat\_ed for the ot et Y Q]ﬁﬁﬁ R
Secretariate of each House of Parliament. )
(2} The Parliament has right to regulate the (2) e W oy fed A weT @ whEEd
service conditions of Secretariate staff of s @ Ggr wal B At e ow
either House of it. fErETR BT & | -
Select the correct answer from the code given A Ry T BE @ G SR BT 99T I -
below - _—
Code - =
(a) Only 2 (b) Neither 1 nor 2 (@) Fadt 2 (b) a7 17 & 2
©) Only 1 4 Hoth 1 and 2 (c) et 1 (@ St 192 2
107. With reference to India’s G-20 Logo, which of the 197 WRa & G-20 wdiE fae @ w=ey ¥ frafafas
following statement/s is/are correct? FIA H B |/ qE B8R
1. The logo has lotus with seven petals, 1.vdliw fore o @@ agfeat arer o0d 2
2. The seven petals of the logo represent seven 2.ydd foe 1 o dgfent w weEm @
continents. wfdffaE sl & |
Select the correct answer using the code given A fea ma @ EHT TN B WEl IR G 99
below - Ffee — :
Code - T —
:;J :;l::;h:r 1nor?2 ::} Both 1 and 2 (@ = &1 141 & 2 (b) g1 TF 2
198 Who was Kh . o {@ﬁmc} v 2 97w 1
(@ An ofjicerax;iﬂadar ?{b ) P
Apoice keecs i:ras ) Despatcher of royal (a) arfyerY . (b) W= B W
accounts e fecrees fesiTe-— e e SFFR
5/ Main custodian of  (d) Chi ; SR B0 4 :
/ ief Officer of (c) TMETHES BT Y {d) qReT @t A
royal palace Pargana e
HEHY
(D-1-23] 153101 T
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1_9{Wh0 among - the following translated
e
/' volumes of Sanskrit books collected by :00
iroz

Tuglaq during the tampaign of Nagarkot?
(a) Azizuddin Khan A&Mu!la AhduL‘B i
aqi

(c) Mirza Muhammad  (d) T4 Amulj
Ali
11/0( piological Oxygen Demand (BOD) is 3 standard
criteria for - |

(a) Measuring Oz level in blood

yPoHution assay in aquatic ecosystems
(¢} Assaying O: levelin high altitude regions

{d) Computing O; level in forest Eénsvstems

1I/I/Mth reference to Union Finance Commission,
which of the following statement/s is/are
correct?
(1) Finance Commission has a Chairman and six
members.
(2) It submits its report to the NITI Aayog.

select the correct answer using the code given

below —
Code -
(a) Only 2 either 1 nor 2/
(¢) Both 1 and 2 {d) Only 1
112. What was the name of the female Regiment
./ccfnstituted as a part of the Azad Hind Fauj by
Netaji Subhash Chandra Bose? '

'{ﬁ}’ﬂani Jhansi {b) Veerangana

Regiment Regiment
{c} Bharat Mata (d) Rani Bhabani
Regiment Regiment

11} y which year the target of population stability
has been fixed in India?

(a) Year 2080

S Year 2045
——

{b) Year 2070
{d) Year 2075

mg.ﬁmﬁ{f@ﬂﬁﬁﬁﬂmwa‘am
m:rffsahmw&aaonmgmaﬁﬁ

arqarg far?
(a) aroArgdyT W (b) Feenl arge AT
©) firert gewTe e (0) e Sl

110. graraiforda el feme (and) fras

ﬁqqqzﬁqm’cﬁﬂ‘l'?ﬁ??

(a}mﬁaﬁaﬁmﬂﬂ\:ﬁ?ﬂﬁﬁﬂﬁ?m

{b}aﬁuuﬁﬁwﬁmﬁﬂﬁwﬂﬁrﬂ%m

{c,mmmgﬁﬁaﬁaﬁﬁﬁﬁtﬁﬂﬁ
ferq

@ a1 oRRef dA § dfe & TP
o @ e

111.#ﬂﬁrﬂwzﬁ#€#ﬁ.ﬁf‘:‘ﬁ*mﬁﬁﬁ

ey /A Tu e /€7

mﬁamﬂftﬁﬁmwamgrwaﬁ%l

{z]wmqﬁﬂaﬂﬁrﬁraﬂwaﬁm—gﬁm
gl

da fag g @mE # W WE SR @1 T

Ff —

mﬁE_
(a) P 2 _ (b 7|7 19T &1 2
(c) 1qd 28] {d) daa 1

112-mwwmmmi’ﬁm‘?ﬁ

ey & wu ¥ wea e Wi Fv F@ M
o7

(a) xR FRYY XfRe
(¢) wree e Yfode

(b) FrT AT
(d) TN waTT YfEe

13. yra § v e @ ded 5| @l a@

fatfa frar mar 27
(a) 9§ 2080 T& (b) T4 2070 D
(c) 9 2045 dH (d) g9 2075 T®

[D-1-23] 153101
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1}’- iven below are two statements, one is labelled 4. 91 3y 7o & Rl v @1 ofisem (A) 3R

as Assertion (A) and other is Reason (R) - _ ?ﬁ P (R) T T & —
Assertion (A) — The Tamil Nadu coast remains dry BI%

during South-West monsoon Afwery (A) - sRm—uf¥en TERE AW @

TN

5eason. o ) drs .

Reason (R) — The Tamil Nadu coast is situate il 'E_! g e
parallel to the Bay of Bengal branch BRI (R) — TG de 91d &l @) & T
of South-West monsoon and it lies N O g

in the rain shadow area of the

Arabian Sea branch of the South- HFARA @ 3R AR e e 1

West monsoon during monsoon Rer 2
season.
Select the correct answer using the code given i fg Ty 7 W HE I gﬁ‘q
below - TE —

Code -

(a) (A} is true but (R} is false

4/ Both (A) and (R) are true and (R) is correct
explanation of (A)

(c) Both (A) and (R) is true but {R) is not correct
explanation of (A)

(d) (A)is false but (R) is true

(a) (A) W & feg (R) 7T €

(b) (A) 3T} {maﬁ a ¥ &R (R), (A) B W
] Tl B

(¢) () 3% (R) <11 T &, A (R), (A) T
IR el Bl #

d) (A) Tetd & fareg Ry ®

115. Which of the following statement is correct? 115. ﬁrﬂfﬁﬁiﬁ Fl A A iﬁ’IT"[ Kl QTE?i E; :
L (1) Ram Ganga Tiver joins the Ganga at Kannauj. (1) WTITF'T] T8 I & 98 T et
' joi Prayagraj. €
(2) River Betwa joins the ‘r’amL.ma near Pray. g j & N & e -
Select the correct answer using the code given ;IH HATRI b HER
elow = 9 R M T @ E SR A —
Code - qE —
{a) Only 2 (b} Both1and 2 (a) iﬁﬂﬁ ) {b) eE 19t 2
(c) Neither 1nor2 (T Only 1 @Aadriad 2 (@ w9 1

. As per Social Progress Index, released in 116 fviaR, 2022 # w¥l wrfdd gy qEdT Eﬁ
December, 2022, which of the following are on ITER el A Frefafeg # 9 99 oft 9=
top three positions in very high social progress in & .

Tier-1? o |
(@ Pondicherry, (b) Mizoram, Himachal (a) TR, Qe 3R () i,
Lakshadweep and Pradesh and Ladakh BlIE|! _ Wy iR dEr™
Goa . :
(c) B, TMAvS 3R (d) S
Kerala, Nagaland  (d) None of the above f ) A ws
and Meghalaya T
1 V/The “Agenda— 21" of Rio Summit, 1992 isrelated 117 R3] RraR W¥ieM, 1992 &1 “woigr-21" wafld
7 to- -
(@) Preservation of (b) Sustainable (@) aiiGj MWa®  (b) 99d o™
ozone layer development HRET |
(¢) Polluter - Pays (dV/Envi -
lu y {dyEnvironmental (©) 9gUF — T (d) THiaRer R @
principle education Rrgra %

D530 | SEEE | TR AR
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Trophic levels are formed by - ; '
1 Y ¥
/j - 118, dyges wR T E _
/ (a) Plants only (b) "Carnivorous animal @) 3 et 2 (b) Tt el

only * maﬁ U

f/orga”isms linked in (d) Animals only () e HEE 5 <hai (@) P argell @
food chain . U
T ddE €
i au @ AR R

17’]0 which of the following, proved charges the 116. ﬁﬁﬂﬁ-ﬂﬁqﬁ i 4,
Minister Nadhim - : fear
ce adhim Zahawi was sacked A, 2023 @l ﬁimﬁ’l ; STETdl 1 ger &

/' finan
from the Government in February, 2023 by the araeT AXETR 3 fac
gritish P-M. Rishi Sunak? oa7?
: IPEE (b da TS
(af/Disclosure of Secrecy(b) Sex Scandal (a) _
Py 3T Casl
of the Cabinet N | _
(c) Tax Scandal (d) None of the above (o 2 oS (d) STYET H A PR BEL
- @ fopxd STHIq
Izyhandraprabha wildlife Sanctuary is situated in 120. =4l ot anaTRed Rl
which district of Uttar Pradesh? ¥ fRerer 87
(/?/Chandauli (b) Baharaich (a) TaTAT OIEEER s
(c) Sonbhadra (d) Lakhimpur Khiri (c) A% (d) ?TM -
: anraT SR TEAT &
121 /Desert dwelling animals are called - 121. e W 8 . F3 arel
(a) Arboreal animals /L‘y Xericoles animals (a) gerardy. Sas (b) FHigHE SN
h RO SIRECIMEN () fae g qrel SATa

(d) Fossorial animals

122, e @ FETATATS! & e o, Frafarad wHAAl

(c) Terrestrial animals

ney General of India,

'/_?/With reference 10O the Attor

which of the ~following statement/s is/are 3 q @ |/ ad g /E?
correct? S (1) wERTEE @ 99 W Ry afaa @ Pl
(1) A person is appointed as Attorney General, e ot fe Seqew =arerd @ gyt
: f
ho i ifi be appointed as aludge ©
WOISquahfIEdtO e app mmzﬁmmﬁaﬁl
the Supreme Court. ) : e
(2) The Attorney General can be removed (2) FrETTAATE] s e § S b =
through the same process 2 the Judges of the aeTal o |ear & ok {5 g e @
: Supreme Court. _ qrgefielf @ | '
] Ee_llea the correct answer from 1 pode 4y Ry g g A el I BT AT PITY —
. Delow -
e _ - hHhe —
Code - ' ®
(@) Both 1 and 2 .(b} Only 2 (a) <11 1 = 2 (b) wad 2
yTar1 A 2 (d) a1

%] page 23 of 32
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177 Given below are two statements, one is labelled

as Assertion (A) and other as Reason (R):
Assertion (A)-12 Cheetahs arrived from South
Africa to India in February, 2023.

Restoring Cheetah population is
considered to be a priority for India.
Select the correct answer using the code given
below —

Code -
(a) Both {A) and (R) are true but (R} is not correct
explanation of {A)

Reason (R) -

(b} Both (A) and (R) are true and (R) is correct -

explanation of (A)
K (A} is false but {R) is true
(d) {A} is true but (R) is false
Where was the “Sudarshan Prahar
Exercise” carried out in December, 20227
{4 Rajasthan (b) Gujarat
{¢} Uttar Pradesh (d} Madhya Pradesh
12;- Which of the following factor is the most
/important factor for the lost of biodiversity?
{a) Control of predators ?)ﬂ Destruction of
natural habitat

Army

9

{c) pest control (d) Genetic assimilation

/}Gwen below are two statements, one [s labelled
as Assertion (A) and other as Reason (R} -
Assertion [(A) — The President can recommend to
the Parliament to change the
boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
Reason (R) - It is not mandatory for the President
to accept the proposal of the
concerned State Legislature.
Select the correct answer using the code given
below -

(@) Both (A} and (R} are true and (R) is correct
explanation of (A)

Both (A) and (R) are true but {R) is hot correct
explanation of (A}

(c) _(A,'I is false but (R} is true
(d) {A) is true but (R} is false

123. 9§19 21 wor & forgdl & U ?Tﬁﬁ?dqtm
aﬁ?q{ﬁzﬁ‘rm{mﬂmo!
afrdem (A) - TR 2023 1 12 Tl #T wfim
aiftheT o WRd 1@ AT 2|

FROT (R) - Adl B EEl DI YERAT A 7

o grerfiredl 2 |
G A b T g @ WA S @ 9 B -
T e -
(a) (A)air (r) W@ & & (R), (A) GAR AR o
& T B
(b) (A) 317 (R) ST T & IR (R), (A) Gt
e Il 8 _

() (a) T & fbe (R) 3T &

(¢) (a) wcm 2 feg (R) T ©

xR, 2022 F CgEEA HER W AT @R
fra T 211?

(a) ¥TaverT= (b) TwTeTc

(€) ST way (d) W Uedl
fEfafag 4 @ W RE sia—fafdEd 3
B @ fau |aifile Aeae] dRE 87

(a) TrfEral av fgEm tb}mqqﬁ?ﬁamaﬂ

(d) mﬁmﬁﬁﬁ

- 21w E, ﬁmﬁﬂwaﬁaﬂmmm]r

R T RO (R) HET TAT R —

FfEem (A)— ffl wow &Y A geen @
RmrRer wrerafey g @ 3 ¢
I w fgmHea g oW
UE WX AR e g Ry ik
B MR W B F |

PR (R) — TGO & SU Iy RerEsa @

U JIT ifyam) =6 2
?ﬂﬂmwﬁﬁmwaﬁgﬁq_

1486184

-
v
n

(c) #e fag=mr

1438184

—
N
[as}

1436184

T T &
(B) {A) 3T (R) T wreyy &
e 78w TS (R, (A}

19 (A)Terd & g (R) e 2
(d) () ey 2 & g (R) e 2

RN G s SRS
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B>

consider the following events and arrange these 127

in correct chronological order starting from the

earliest to the last activity — |

0l appointment of the Drafting Committee

(i [ndian Constitution was adopted and enacted

) Date of commencement of indian
Constitution

(V) Constitution Assembly first met

‘ select the correct answer from the code given
. below —
| Code - 2
@ i Lv T (o) v, 1, 111, 1 o
v, 1, 1, 1 @) 1, 11, IV, tii~ Q
. .-

128. On 25
countries extended mandatory Military Services -

for one year to those males who were born after
01 January, 2005?

(@ Myanmar wTaiwan

(c) Sri Lanka (d) Afghanistan

184

1?Given below are two statements, one is iabeflgd 129
ﬁs Assertion (A) and other as Reason R)—
Assertion (A) — The President is a part of the
Parliament.
(R) — A bill passed by the two Houses of
the Parliament cannot becomera
law without the assent of e

President. 'SP
Select the correct answer using the code gi{ﬁgn

Reason

below -

(a) Both (A) and (R) are tru
explanation of (A)

(b) (A) is true but (R) is false

' =T

“}‘_’{A} is false but (R) is true oo
© Both (A) and (R) are true and (R) is corEst
o]

e but (R) is not correct

<}

explanation of (A)
ptain Hawking's, which

1 .
)B‘ ith reference to the C2
of the following statements is correct?
(1) He came to India in 1611 asan envoy of

James —I.
(2) He was very well versed in Turkish language-

/ﬁﬁoth 1and 2 (b) Only 2

th pecamber, 2022, which of the following 128

S @ B @

130.

Cremfeafera AeeA @ fAAT i am 77 7
Sifrn, TET 95A A C L

[3

i A AT
anferéy nifafafa @@ =
Bl

(1) wrEd wfafa #1 fFraf ( L

(1) smredia HfEar # g @ @ T

(Iv) Afdar I #1 9ad 1T
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(a) m, 1,1, v
(e) 1v, 1,1, 1
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grT 1999, zoosm‘aﬁaﬁ‘gqga‘mﬁﬁw

) v, 1, 0, 1
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(c) (A) TTera & fog (R) A
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(2) 98 g1 AT BT JgA o7 Siar A
(a) =T 1 qer 2 (b) Faed 2
(c) Bae 1 (d) =T @1 177 &I 2

© only 1 (d) Neither 1 nor 2
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With reference to the composition of the

Legislative Council in a state of India, which of the

following statement/s isfare correct?

(1) In the Legislative Council there may not be
more than one-third members of the total
membership of the Legislative Assembly of
that state.

{2) The Legislative Council of a state must have at
least forty members in it.

Select the correct answer from the code given

"below -

Code -

(b) Neither 1 nor 2

() Only 2 (d) Only 1 _

}a‘//‘Who composed the Golden Globe Award winning

song “Naatu Naatu"?
(a) 5.5. Rajamouli
{c) A.R. Rehman

(b) Devi 5ri Prasad
H,tﬁ,M.M. Keeravan

133/ Which of the following scheme/s isfare related to

Uttar Pradesh?

(1) Anuthee Uphar Scheme

(2) Matra Shakti Udyamita Scheme
(3) Kaushalya Matritva Scheme

(4) Stree Nidhi Scheme _
select the correct answer using the code given

below —

Code -

48v2,3and4 (b) Both 2 and 3
(€) Only 1 (d) Only 2

tting of Parliament,

(1) Article 109 provides for the joint sitting of
both Houses in certain cases.

(2} The Speaker presides the joint sitting of the
two Houses of Parliament.

Sel . .
ect the correct answer using the code given
below —

Code -

(&) Dnhlll 1
() Neither 1 nor 2

(b} Both 1 and 2

S¥only 2

B

131.

132,

133.
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(a) TRITATATIA! (b) &Y &1 9ATE

{¢) QIIR. YEHAM (d) TH.CHARIEA
ﬁﬁfﬁﬁaﬁﬁﬁaﬁﬂ?ﬂa‘rﬁm/ﬁwmﬁ
Hafad & /87

(1) 3FE1 SYER ATl

(2) AT Sl TSt

(3) Freredn Hged ATl

(4) =0 PR A

3 fau o gE § W I g -
e — .

(@) 2, 3 &z 4 (b) ST 2 3R 3
(c) daa 1 (d) HIA 2

134-@3&#@3@?%@#%%%@

§ QP /A B WA /7

[1}aa?ﬁﬁtgwwaﬁﬁmﬁaﬂaﬁfﬂaﬁaﬁ
ST dod b1 A B E

[Z}ﬁﬂﬁﬂ%ﬂﬁ'ﬂﬁmiﬁmﬁﬁlw
el B

A frg g @E A A FE SR 9T -

T-_E.E_
(a) Fact 1 (b) ST 1 e 2
(c) =1 @ 177 B 2 (d) #ge 2
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ashok Mehta Committee [19??)nn
raj, which of the following state
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N Panchayati

orrect? ment/s is/are

{nThethreetiersvstem of Panchayati Raj houl
J should

be replaced by the two tier system

(2) A block should be the first point f
or

decentralization under ochilar supenvs
below the state level, Ision

Select the correct answer using the code given

below —

Code -

(a) Only 1 I,Qtﬂ"Both 1land 2
(c) Only 2 {d) Neither 1 nor 2

tastern boundary of the Harappa culture is
indicated by which of the following?

W Manda

(c) Rakhigarhi
What is the theme of the International Day for

(b) Alamgirpur
(d) Harappa

?.
/ the Eradication of Poverty for 2022-23?

}ﬁ/"toming together

(a) “Dignity for allin practice.”
(b) “Accelerating global actions for a wo

rid

without poverty.”
to end poverty and
discrimination.”

(d) “Acting together 10
families and communities

empower children, their

to end pov_erty."

WWhich type of vaccine protect against
Diphtheria? |
(a) Toxoid Live-attenuated
(c) mRNA (d) viral Vector

he E.V. Ramaswami Nayakar,

1/With reference to t /
which of the following statement/s 1sja_re

F\ D271 153101

correct? .

(1) He participated in the Non — Cooperation
Movement.

(2) He |eft the congress in 1925.

select the correct answer using the code given

below — -

Code -

(a) Neither 1 nor 2 (b} Only 2

}&Both 1and 2 (d) Only 1
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136.

137.
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(a) Paet 1 (o) T 1520 2

(c) ®ad 2 (d) =7 @ 171 €1 2
ﬁmﬁt@ﬂﬁﬁﬁﬁmmﬁqﬁ#{m
7 fateor Bear 87

(a) MUBT (b) STETHITIRUR

(c) IrArTE (d) gl

2022-23 % forg SR @ fT ST
fraqzy o faw @1 27

TRAT |
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(b) ey @ faer g

el |
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afR gHewl B T

@ EAT "
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(a) SIHHETES (b) wTET afYaCe

(¢) TIARTAY, (d) argRal AFR
é.ﬁ.ﬂwﬁwﬁﬁﬂ y, Erffa ol
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(1) 9= s sifarer e (T
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gf?rq_
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1%Ma‘tch list-1 with list-Il and select the correct

answer using the code given below —
List-1l
(Countries)
(A) Kilimanjaro (1) Morocco
(B) Toubkal \(2) Algeria
(C) Stanley 3) Tanzania
(D) Hoggar {4} Uganda
Code -
a) A-(4), B-(2), C-(3), D-(1)
A-(3), B-(4), C-{1), D-(2)
M A-(3), 8-(1), C-(4), D-(2)
{d) A-(4), B-(3). C-(2), D-{1)

/41- Non-conventional energy sources are those

List =1
{Mountain)

energy sources, that are -

(a) Produced from
electricity

(¢} Produced from heat (d) Non-renewable

(] Renewable

142. How many railways stations have been identified
for modernization under “Amrit Bharat Station
" Scheme” in Uttar Pradesh as on February, 2023?
(@ 149 (b) 57 -
(c) 123 (d) 82
143, ‘0zone layer’ absorbing ultra -
/ exists in which of the atmospheric layer?
{a) Troposphere {b) Mesosphere
(c) Thermosphere yi}Stratosphere
4% What caused wind to deflect towards left in

Southern Hemisphere?

viclet radiation

(8) Temperature (b) Pressure

140. 3| Y I A Al fore e fmt 3 |y

#ﬁiﬁnmmtiﬁwﬁqxrzgﬁqm

- giiad]
() (=)
(A} ReiTorT (1) T
(B) Tawen (2) aranfRa
(€) @h (3) Tt
(D) BTR (4) gmst

i’fg\E —_
(a) A-{4), B-(2), ¢-(3), D-(1)
- (b) A-(3), B-(4), C-(1), D-(2)
(c) A-(3), B-{1}, C-{4}, D-(2)
(d) A-(4), B-(3), C-(2), D-{1)
141.f}—;_q|qqﬁarm—nwﬁa‘rﬁb St & —

a) faegaata # (b) g 2
(c) TwTEfI & (d) Ry €

142. gadl, 5023 HF TR WS H I WA RIH
Rl 1 gEaE @ T 7
(a) 149 {b) 57
{e) 123 (d) 82
143, QTR RRRY @ sEeifta wYE a S
wa e A W R w7
(a) &7 HSd (b) Hen1 W
(c) a0 Hed (d)} HATY e
144. Zfyht emd § gar &1 Al oR fafia &6 @
T B 8?
(a) TTgHTH (b) =T

(c) Magnetic Field }%Conohs force (c) Fadrg 8= (d) PRIRTY o
145 Which one of the following is the main ebjective 145. Prefofaa & § @9 @ el gRen dern @
“/ of Janani Suraksha Yojana? PLse] 63T &7
(2) Reduction in neo-natal mortality rate only (a) Had TR g &% W T
9’ eduction in maternal and neo-natal -
) {b) 0 EEMIG] [ &
mortality rate Y TG R FIERE R
(¢} Reduction In infant mortality rate only (c) Faet Ry g < o oA
(d) Reduction in maternal mortality rate only (d) B A g & H
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/ With refere

which of !
carrect?
(1) The PMC
launche
(2) The P
engines
Mass
Infrastry
Gati Sha
select the
below —
Code -
{a) Neither
lrﬂ/ oth1
uﬁi refar
following s
(1) Inform
found |
(2) Vayu P
goverr
(a) Both 1
(c) Only2

1%Vhich of ¢
Proponen

(a) Uttara
Kapila

(;/Nyayz

143. *Mount
followin

,@Cop:

(€} Iron
ﬁy/vho an
“Spare”

King

() Prin

[D-1-23] 153


Shivam Yash
PW OnlyIAS


Join Telegram™Govjobresult.in”

5/ With reference to ‘PM Gati Shakt Schem
hich of the following statement/s |sfae
Cﬂrrect? )
(1) The PM Gati Shakti Scheme-Natignal Plan wa

launched in 2022. 5

(2) The PM Gati Shakti Scheme pertains to seven

engines (Roads, Railways, Airports, Ports

Mass Transport,  Waterways, Lugistic;

Infrastructure). NIP will be aligned with PM
Gati Shakti Framework,

select the correct answer from the code given

below —

Code -

(a) Neither 1 nor 2 (B} Only 2
(¢¥Both 1 and 2 (d) Only 1

@’Wlth reference to the Puranas, which one of the
following statements is correct?
(1) Information about the Mauryan dynasty is
found in the Vishnu Puran. '
(2) Vayu Puran throws light on the Gupta’s
governance system.
(a) Both 1 and 2 (b) Only 1
(¢} Only 2 (9) Neither 1 nor 2

yﬂ'hlch of the following pairs (School of Thoug
roponent] is correctly matched?
(b) Mimansa — Kanada

ht —

(@} Uttara Mimansa—
Kapila '

V/Nvaya _Gautama (@ Vaisheshika —

patanjali

143, qmount Newman' is famous for which of the

following minerals?

,@’/Cnpper

() lron ore

(b) Manganese
(d) Bauxite

ho among the following has authored the book

“Spare”?
King Charles
() Prince Williams

(b) Prince Harry
(d) prince Phillip

146,

147.

148.

149.

150.
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Pttt @ @ 98 IR g1 -

‘ﬂz\?._
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el &7
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2Tl £ |
(a) SET 1 dT 2 (b) a1
(c) ¥aat 2 (d) s ar 191 &1 2
Prefafa # ¥ @ 1 g (&3 - TARD)
q\-iﬁﬁ:mg?

{a}w:ﬂmﬂ e (b) AT — Hvd (ZﬁﬂT:')

(¢) =g — T (d) 9T — gdwrc
‘Waqﬁﬂ‘ﬁﬂ%{f@ﬁﬁﬁﬁmaﬁma%ﬁw
ufdrg 87

(a) ora (b) HIATA

(c) T8 ITXH (d) dieaTse
Erfafad 3 | fpe TR g o 82
(@) frer =red (b) iy &

(c) fiw faferm=a (d) firzy fsfem
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